
totseconds.
p < 0.001

1

≤ 67808 > 67808

totrevisions
p < 0.001

2

≤ 12237 > 12237

shared_compendiums
p < 0.001

3

≤ 2 > 2

totseconds.
p < 0.001

4

≤ 27080> 27080

Node 5 (n = 22)

0
50000
1e+05

150000
2e+05

Node 6 (n = 21)

0
50000
1e+05

150000
2e+05

shared_compendiums
p = 0.013

7

≤ 4 > 4

Node 8 (n = 13)

0
50000
1e+05

150000
2e+05

Node 9 (n = 7)

0
50000
1e+05

150000
2e+05

Node 10 (n = 13)

0
50000
1e+05

150000
2e+05

totseconds.
p < 0.001

11

≤ 120642 > 120642

totrevisions
p < 0.001

12

≤ 15849> 15849

Node 13 (n = 25)

0
50000
1e+05

150000
2e+05

totrevisions
p = 0.028

14

≤ 26569> 26569

Node 15 (n = 39)

0
50000
1e+05

150000
2e+05

Node 16 (n = 8)

0
50000
1e+05

150000
2e+05

shared_compendiums
p = 0.033

17

≤ 2 > 2

Node 18 (n = 29)

0
50000
1e+05

150000
2e+05

Node 19 (n = 20)

0
50000
1e+05

150000
2e+05


